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R5.7.1 |EMNETEEOBR ERAR B 5,000
R5.7.2 [|7A®UYY—YIvkinEMIIIERE 40— 5 FLF=— BEH 5,000
R5.75 |MREEFEEXEELOBRR2E5) = 12,000
R4.76 |XERMBEEIGEESHE (BILT. BISTH. #iEHh) ~DEFEMPR| T 21,247
R5.7.7 |RIABELILAMIIEXE F43EEHLE = 5,000
R5.7.7 |BiLAEZMESBRE-MES BB 5,000
R5.7.7 |BXBLHLEHLHBASE2NREHRE-ERRER = 4,000
R5.712 |EMIIRERROE ERHER BB 5,000
R5.716 |FxUT4—h3A45THEDL] B 5,000
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R5.7.20 |iIfxH LA HERERE (6,000 X 144%) #%id 84,000
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R5.7.25 |BXENEHERBRBERVUMAIREOERRI MR -BHS = 6,000
R5.7.27 |EFIIR-&£XHEBIMKBES HREBRIBSE B 5,000
R5.7.27 |#bDLER1T #RET/N—T1— = 6,000
R5.7.29 |XKERBEGIEET (BILTH) ~DOYFEMPR Z D 17,546
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